
5

6
7

8
9

3

431 2
1

~0,50m

NR. Description MA Item Number Qty

1 Stovetop 8055566 1

2 Table top 8059892 1

3 Mount, right 8055316 2

4 Mount, left 8055324 2

5 MF6S M6x20 8008614 4

6 Cap 6 Ø6,5x21 mm 8005951 
(261800) 4

7 Ø6,4x14x1,5 mm 8008848 4

8 M6M -8 M6 ISO 7042 8042808 4

9 Cover M6, Ø15x10mm 8005952 
(261801) 4 TeK3 JN 2017-03-28 1

MASW46128
 1 ( 5)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

Cooker w. side table
HAGS



11
10

19

18

17
14

13
12 12

13
16

17

17

14
13

12
15 15

12
13

16

17

19

2

NR. Description MA Item Number Qty

10 Stovetop 8055566 1

2 M6M -8 M6 ISO 7042 8042808 2

3 M6M -8 M8 ISO 7042 8042809 3
11 Table top 8059892 1

12 Cover cap 8, plan, with rail tracks 8005956 4

13 Washer 9x18x2 mm 8008849 4

14 M6S M8x25 mm 8008344 2

15 Distance 8, Ø8,5x27x3 mm 8005959 2

16 M6M A2 M8 8008795 2

17 Cover 8, Ø18x10mm 8005958 4

18 105x38x29 8005980 1
19 Reinforcing brace 8009589 1 TeK3 JN 2017-03-28 1

MASW46128
 2 ( 5)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

Cooker w. side table
HAGS



25

24

26

20
21

22

23

3

NR. Description MA Item Number Qty

1 M6M -8 M6 ISO 7042 8042808 2

2 M6M -8 M8 ISO 7042 8042809 3

20 Cap 6 Ø6,5x21 mm 8005951 
(261800) 4

21 Ø6,4x14x1,5 mm 8008848 4

22 M6M -8 M6 ISO 7042 8042808 4

23 Cover M6, Ø15x10mm 8005952 
(261801) 4

24 Cover plate 8055791 1

25 MVBF M6x20 8039270 4

26 DISTANCE 6 Ø7x27x2,5 8005953 4 TeK3 JN 2017-03-28 1

MASW46128
 3 ( 5)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

Cooker w. side table
HAGS



9mm

32 29
28

27

31

27
28

32

9mm

32 33
28

27

30

31

9mm

32 34
28

27

31

4

4

Wood

HPL

Steel4

NR. Description MA Item Number Qty

1.14 M6M -8 M6 ISO 7042 8042808 2

1.15 M6M -8 M8 ISO 7042 8042809 3
27 Cover cap 8, plan, with rail tracks 8005956 8

28 Washer 9x18x2 mm 8008849 8

29 M6S M8x40 mm 8008349 4

30 Distance 8, Ø8,5x27x3 mm 8005959 4

31 M6M A2 M8 8008795 4

32 Cover 8, Ø18x10mm 8005958 8

33 M6S M8x35 mm 8008348 
(302160) 4

34 M6S M8x20 8008343 4 TeK3 JN 2017-03-28 1

MASW46128
 4 ( 5)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

Cooker w. side table
HAGS



5 Wood

13mm

5 HPL

13mm 

13mm 

39
38

35 36 40
37

42363541
38

39
37

3742363538
39

5 Steel

NR. Description MA Item Number Qty

1 M6M -8 M6 ISO 7042 8042808 2

2 M6M -8 M8 ISO 7042 8042809 3
35 Cover cap 8, plan, with rail tracks 261806 2

36 Washer 9x18x2 mm 8008849 2

37 Cover 8, Ø18x10mm 8005958 2

38 Bushing Ø12x30 M8 8008808, 
324600 2

39 MKFX ESLOK M8x25 mm 316600 2

40 M6S M8x30 mm 302159 2

42 M6S M8x20 mm 8008343 
(302157) 2 TeK3 JN 2017-03-28 1

MASW46128
 5 ( 5)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

Cooker w. side table
HAGS


	Sheet2
	Drawing View9
	Drawing View13
	Drawing View28

	Sheet1
	Drawing View4
	Drawing View39

	Sheet3
	Drawing View30

	Sheet4
	Drawing View16
	Drawing View17
	Drawing View18
	Drawing View19
	Drawing View21
	Drawing View22

	Sheet5
	Drawing View31
	Drawing View32
	Drawing View33
	Drawing View34
	Drawing View35
	Drawing View37
	Drawing View38


